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Analytic Geometry Solve by Completing the Square H ¥
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Completing the square method allows us to factor an expression that is initially unfactorable | - ; g
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Steps for Completing_the square: ‘
1) Rearrange equation in standard form: ax?+bx+c =0
2) divide each term in the equation by a if a #1 (We need the new a value to be 1)
3) Move the constant to the other side of the equation.
r
4) Add spaces ¥ _to the equation: {x>+bx+  =c+ +
2 ,
5) Find G) and enter this value into the blank spaces ___ on both sides of the equation
6) Rewrite left side in factored form and add the numbers on the right side
7) take the [ of both sides (don't forget +)
8) solve for x
l. Getting ready:
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Examples: Solve by completing the square method:
1. x2-4x+2=0 . 2. X+ 12x-1=0
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Steps for Completing the square:
1) Rearrange equation in standard form: ax? + bx +c=0
2) divide each term in the equation by a if a #1 (We need the new a value to be 1)
3) Move the constant to the other side of the equation.
4) Add spaces ___to the equation: x*+bx+__ =c+
2
5) Find ( ) and enter this value into the biank spaces __ on both sides of the equation
6) Rewrite left side in factored form and add the numbers on the right side
7) take the f of both sides (don’t forget *)

8) solve for x

Solve for x below using completing the square method:
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Completingthé Square WS #1 Homework

Solve for x below using completing the square method:
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